
Ford Circles for Fixed Arithmetic 7-Sol Leap Week Cycles 12:20:34

0 Fraction marked with x# indicates length is # times 0.513793103 12:00:00

the equivalent leap or skip sol calendar. 0.512471655 52.85792478

1x leap weeks per cycle / years per cycle to 500 : mean year as exact h m s = exact fraction of sol in excess of 668 sols   
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149 / 290 : 14h 19m 2+2/29s = 173 / 290205 / 399 : 14h 18m 56+16/19s = 34 / 57 x7

56 / 109 : 14h 18m 42+102/109s = 65 / 109

243 / 473 : 14h 18m 31+97/473s = 282 / 473
187 / 364 : 14h 18m 27+9/13s = 31 / 52 x7
131 / 255 : 14h 18m 21+3/17s = 152 / 255

206 / 401 : 14h 18m 15+105/401s = 239 / 401

75 / 146 : 14h 18m 4+68/73s = 87 / 146

244 / 475 : 14h 17m 56+4/19s = 283 / 475
169 / 329 : 14h 17m 52+16/47s = 28 / 47 x7

94 / 183 : 14h 17m 42+18/61s = 109 / 183

207 / 403 : 14h 17m 34+38/403s = 240 / 403
113 / 220 : 14h 17m 27+3/11s = 131 / 220

245 / 477 : 14h 17m 21+27/53s = 284 / 477
132 / 257 : 14h 17m 16+148/257s = 153 / 257

151 / 294 : 14h 17m 8+4/7s = 25 / 42 x7
170 / 331 : 14h 17m 2+118/331s = 197 / 331

189 / 368 : 14h 16m 57+9/23s = 219 / 368
208 / 405 : 14h 16m 53+1/3s = 241 / 405

227 / 442 : 14h 16m 49+211/221s = 263 / 442246 / 479 : 14h 16m 47+47/479s = 285 / 479

19 / 37 : 14h 16m 12+36/37s = 22 / 37

248 / 483 : 14h 15m 39+3/23s = 41 / 69 x7229 / 446 : 14h 15m 36+72/223s = 265 / 446
210 / 409 : 14h 15m 33+3/409s = 243 / 409
191 / 372 : 14h 15m 29+1/31s = 221 / 372

172 / 335 : 14h 15m 24+12/67s = 199 / 335
153 / 298 : 14h 15m 18+18/149s = 177 / 298
134 / 261 : 14h 15m 10+10/29s = 155 / 261
249 / 485 : 14h 15m 5+55/97s = 288 / 485

115 / 224 : 14h 15m 0s = 19 / 32 x7
211 / 411 : 14h 14m 53+59/137s = 244 / 411
96 / 187 : 14h 14m 45+105/187s = 111 / 187

173 / 337 : 14h 14m 35+325/337s = 200 / 337
250 / 487 : 14h 14m 32+136/487s = 289 / 487

77 / 150 : 14h 14m 24s = 89 / 150

212 / 413 : 14h 14m 14+14/59s = 35 / 59 x7
135 / 263 : 14h 14m 8+176/263s = 156 / 263

193 / 376 : 14h 14m 2+26/47s = 223 / 376
251 / 489 : 14h 13m 59+43/163s = 290 / 489

58 / 113 : 14h 13m 48+36/113s = 67 / 113

213 / 415 : 14h 13m 35+35/83s = 246 / 415
155 / 302 : 14h 13m 30+90/151s = 179 / 302

252 / 491 : 14h 13m 26+254/491s = 291 / 491
97 / 189 : 14h 13m 20s = 16 / 27 x7

233 / 454 : 14h 13m 12+216/227s = 269 / 454
136 / 265 : 14h 13m 7+49/53s = 157 / 265

175 / 341 : 14h 13m 1+79/341s = 202 / 341
214 / 417 : 14h 12m 56+136/139s = 247 / 417253 / 493 : 14h 12m 54+18/493s = 292 / 493

39 / 76 : 14h 12m 37+17/19s = 45 / 76

254 / 495 : 14h 12m 21+9/11s = 293 / 495215 / 419 : 14h 12m 18+378/419s = 248 / 419
176 / 343 : 14h 12m 14+34/49s = 29 / 49 x7

137 / 267 : 14h 12m 8+8/89s = 158 / 267
235 / 458 : 14h 12m 3+33/229s = 271 / 458
98 / 191 : 14h 11m 56+44/191s = 113 / 191
255 / 497 : 14h 11m 49+61/71s = 42 / 71 x7
157 / 306 : 14h 11m 45+15/17s = 181 / 306

216 / 421 : 14h 11m 41+79/421s = 249 / 421

59 / 115 : 14h 11m 28+16/23s = 68 / 115

256 / 499 : 14h 11m 18+78/499s = 295 / 499197 / 384 : 14h 11m 15s = 227 / 384
138 / 269 : 14h 11m 9+39/269s = 159 / 269
217 / 423 : 14h 11m 3+39/47s = 250 / 423

79 / 154 : 14h 10m 54+6/11s = 13 / 22 x7

178 / 347 : 14h 10m 43+79/347s = 205 / 347

99 / 193 : 14h 10m 34+38/193s = 114 / 193
218 / 425 : 14h 10m 26+14/17s = 251 / 425
119 / 232 : 14h 10m 20+20/29s = 137 / 232

139 / 271 : 14h 10m 11+19/271s = 160 / 271
159 / 310 : 14h 10m 3+27/31s = 183 / 310

179 / 349 : 14h 09m 58+98/349s = 206 / 349
199 / 388 : 14h 09m 53+79/97s = 229 / 388
219 / 427 : 14h 09m 50+10/61s = 36 / 61 x7239 / 466 : 14h 09m 47+29/233s = 275 / 466

20 / 39 : 14h 09m 13+11/13s = 23 / 39

241 / 470 : 14h 08m 40+40/47s = 277 / 470221 / 431 : 14h 08m 37+373/431s = 254 / 431
201 / 392 : 14h 08m 34+2/7s = 33 / 56 x7

181 / 353 : 14h 08m 29+323/353s = 208 / 353
161 / 314 : 14h 08m 24+72/157s = 185 / 314

141 / 275 : 14h 08m 17+5/11s = 162 / 275

121 / 236 : 14h 08m 8+8/59s = 139 / 236
222 / 433 : 14h 08m 2+94/433s = 255 / 433

101 / 197 : 14h 07m 55+25/197s = 116 / 197

182 / 355 : 14h 07m 46+34/71s = 209 / 355

81 / 158 : 14h 07m 35+55/79s = 93 / 158

223 / 435 : 14h 07m 26+26/29s = 256 / 435
142 / 277 : 14h 07m 21+243/277s = 163 / 277

203 / 396 : 14h 07m 16+4/11s = 233 / 396

61 / 119 : 14h 07m 3+9/17s = 10 / 17 x7

224 / 437 : 14h 06m 51+393/437s = 257 / 437
163 / 318 : 14h 06m 47+29/53s = 187 / 318

102 / 199 : 14h 06m 37+197/199s = 117 / 199
245 / 478 : 14h 06m 31+151/239s = 281 / 478

143 / 279 : 14h 06m 27+3/31s = 164 / 279
184 / 359 : 14h 06m 21+21/359s = 211 / 359
225 / 439 : 14h 06m 17+97/439s = 258 / 439

41 / 80 : 14h 06m 0s = 47 / 80

226 / 441 : 14h 05m 42+6/7s = 37 / 63 x7
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Analysis by Dr. Irv Bromberg, University of Toronto http://www.sym454.org/leap/
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